COLOR:
HANDRAIL WOOD SPECIES:

HANDRAIL WOOD FINISH:

*MOUNTING BRACKET:

COLOR TO BE SELECTED FROM ONE OF C/S STANDARD COLORS.

*MOUNTING BRACKET SUPPLIED IN STANDARD MILL FINISH. OPTIONAL CLEAR
ANODIZED AND POWDER COAT FINISH AVAILABLE. PLEASE ADVISE POWDER COAT

FINISH IF REQUIRED.

FEATURE INSERT COLOR:

REFER TO C/S CATALOG FOR FEATURE INSERT COLORS.

WOOD HANDRAIL ——
(24W612xxx) \

3u

[74.8mm]

112"

35/8"
[91.0mm]

51/2"
[139.7mm]

[36.7mm]

i

i
=

FEATURE INSERT —/
(24V012xxx)

ALUMINUM RETAINER
(24A214000)

LIGATURE RESISTANT
MOUNTING BRACKET
(24A336000)

ToTAL | LEFT [RIGHT
UFREQD| ShD | END

CAPS | CAPS
QUICK LOCK

(241821000)
METAL QUICK LOCK
OSHPD (24M068000)

TOP PLATE
(24A337000)

1/4-20 X 5" RD HD BOLT
W/ TOGGLE AND LOCK WASHER
32" [812.8mm] O.C. MAX.

! i STEEL STUD (BY OTHERS)

G.W.B. (BY OTHERS)

AW-10CVBCM

'WALL CONDITION SPECIFIED FASTENER Vl\jlilILL DIAM:;::ZER (’fﬁ’;é\;g FABR | CATION AND APPEARANCE OF
\ THIS WOOD RAIL MATERIAL IS BASED
1/4-20 X 5" ROUND HEAD BOLT WITH TOGGLE, AND LOCK . . 90H049002
STEEL STUD/GYPUSM WALL WASHER 3/4 9/32 901006003 ON FACTORY CUT AND ATTACHED END
CONCRETE/CONC. BLOCK #14 X 5" PHILLIPS RD HD ALL-PURPOSE SCREW 3ne" 9/32" 90H287002 CAPS. IF STOCK SIZES ARE REQUlRED’
END CAPS MUST BE CUT IN THE FIELD
WOOD STUD/GYPSUM WALL #14 X 5" PHILLIPS RD HD ALL-PURPOSE SCREW 18" 9/32" 90H287002 BY INSTALLER OR C/S WILL NOT
——— GUARANTEE MATCH AND APPEARANCE
1/4-20 X 5" RD. HD. BOLT WITH FLAT WASHER
BgpL RO | iz ing wo | | S OF CAPS TORAIL.
PROJECT: REVISION:
JOB NO.: F&F:
. . - ™
9 C&nstmctlon Specialties CUSTOMER:
6696 Route 405 Highway, Muncy PA 17756
(800) 233-8493 « Fax (570) 546-4692 « www.c-sgroup.com REP: DATE:
DRAWN BY: SHEET NO:

DOCH#: TS-930-664

ISSUE DATE: 12/12/12

REV DATE: 3/27/15




